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utt = uxx + f(u, ux), (1)
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y = y(x + ct), (2)
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f(y, y′) = g(y)y′ + h(y).
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utt = uxx + g(u)ux + h(u), (13)

µ�á	µ



äSå�ä�æ�ç�è&é�ê�ë¶ìnê�é

�5�
� C �k���d���
}¡����} C ���>� C �>��}V�& 5´¶µ�·�©��5����� f C �
����}b�q���¾´»;�·�õ
Ý��>�
�����
}b�8���
}m}b���!���n�����p´¶µ+=�·�©��5�����

g(u)
�>�
�

h(u)
���&������ Ñ�	���
¥¡���
} C ���
�
���������
�Ûµ�· −4

·u���n�&��}b�
�>���+��}>@

£��
}��S©4���
}b��}H}n¢������:�F}������	�
� C ���������n�>���ª�d����}b� C ������}b���F���
�
���
¥k����´¶µ+=�·�©)�> d���
}u {����� u(t, x) =
= y(x± ct)

�5�
}b��}m���
}5 {�
� C ������� y
���8�V��}b�����	�
� C ���������������u�> ����
}m�
���
�����
}��>��°)�b±}b�!�>���S² ��}b���!�&�������

´Õã�·�@
¿5}b�\�>��«]µ�@�¬í 

y(x)
�����V�F}������	�
� C ���������������\�> ����
}¯}b���!�&�������p´Õã�·�©����+�u�> )�F}b������� ω > 0

©����
}b�
���
}¯�F}b�����	�Y�> )���
}1���������������

y(x± ct),
�5�����Y��}b���F} C ����� t

©	���
ω/|c|

@H¬��Y���
} C �>��} |c| < 1
©
�>���!���
}

��}b�����	�
�¡�&��}:���>��¥�}b�¯���!�>�
ω
©)�>�
�p���
}b��}u�>��}����������������
�¯�> ��>���
�������>���q���>��¥�}K�F}b�����	�S@�ÅÆ�������H�&��}b�1 {���

���
}¡��}b�����	�
ω
�>��}3�
��� C �
�������u�����n�>���]���]���
}¡¥�}b�
}b���>� C �>��}>@

¿5}b�\�>��«3?	@�à�}b�����
}b�)���
}Æ�F}b�������
� C ���������������S©�}b���!�&�������H´Õã�·��>�
�\�����S�>�����5�>���	�\�����>��� C �>���¹�m�F}b�����	�
� C
�������������>�
�Æ�n�!����¥�}b�
}b���&��}b�d�>���	�\�����>��� C �>���¹���F}b�������
� C �d�+��}b�b@\¬í�����8�>�����V�F���������
��}5���V¥�}������������������u {���
´Õã�·¯�5�
� C �¾��}b�
���>���	�\�����>��� C �>���¹�q���k���
}\������¥���� (0, 0)

�> ����
}\�
�!�>��}H�
���>�
}��5�
}b�
t → +∞

���
t → −∞

@ ¼ ���4���
}b��}î�������!�&�������
�3�>��}u}b��}b�\}b���n�>��� C ���
��}b���
}b� C }b�K�> 8���
}u�
������}b������}b�¡�> 8���
}������\�¹�
C � C ��}b�5 {�����
���>�
}<�>�������
���\���
�d���	����}b�u��@pÃ	}b}>©! {�>�����
���n�>� C }>©Q¸ ;+��á�º»@� G¯c]OQJ!w�ÏQP�LË^��IP	x�z{R!Ò:EKR!ØbP®J�ÔuU3ÓSNQR�w�z{JFO�� Î
� @)|~}Y���!�>��� C ���
�����
}b�:�
�+� ���
} C �>��}H�5�
}b�
f(y, y′)

���5���
�
}b��}b�
�
}b���m�> 
y′,
�5�
� C �k�\}��>�
�����!�&�����
}3�d����}¡}b���!�&�������~´�µ+·d��}b�
� C }b�5���

utt = uxx + f(u),
´¶µ�Ê�·

�5�
����}1���
}¡�����
���!�>���Y�
��¨�}b��}b�������>�S}b���!�&�������] {���d���
}¡���������n�>���\�d����}b�m��} C ���\}b�

(1 − c2)y′′ + f(y) = 0.
´¶µ�;�·

£��
���Y���Y�>�¦}b���!�&�������Û�> 3���
}ª��}b�
�
�
���
� �¶�	�F}p�>�
�Û���Y�F������}b����}b�#�F}b�����	�
� C ���������������
�\�
�
�
}b�
�>�
}����!�&��} C ���
�
���������
����� f(y)

@
°)}��\�
�\�>�����
�\}Y���!�&�

|c| < 1
�>¥��>���S©4���
} C �>��} |c| > 1

��}��>�
���
¥ª���������\�����>�:�>�����
�\���������
�
 {���

f(y).
£��
���1�����\}V��}:�5�����4�!����}u�H Õ�>�\���¹�k�> 8�F}b�������
� C ���������������
�b©F�
}b�F}b�
�
���
¥]���¾�H�����
¥���}:��}��>�

�!�>���>�u}���}b�b@H½k����}¯�
��} C ����}b����©	���\���
}¯�
�!�>��}¯�
���>�
}>©����
}¯������¥������5��������������}b���5�V�
}b��¥��	�������
�	�	�\�5�
� C �
��� Ù ����}b�]�
�#�5�����#�F}b�������
� C ���������������
�b@

°)}����
���n�>«>}1�>¥��>���S©	�>����}� {}b��}b� C }>©!�K��}b���
���� {�����_¸ á	©	£��
}b����}b�ñÀ�@�µbº»@�Á!�����:�
���&�����
¥V�
����} C �����u���
�
���	�F�>���
}b��}b�m���

f(y)
©����
}3 {�������+�5���
¥:��}b���
��� C �>�#�F}¡���n�&��}b�k���#��}b¥��>���]���u���
}¡}b���!�&�������~´¶µ�Ê�·�õ

£��
}�����}b�j?�@-Ý����
�����
}b�:���
}]}b���!�&�������s´¶µ�Ê�·V���Ë�5�
� C � f(u)
��� C �����������
���
�����~�
��¨�}b��}b�������>�
��}

 {�����
R
�������

R
©
��� C �#���!�&�

uf(u) > 0
 {���

u 6= 0, f(u) = −f(−u).
´¶µ+À�·

£��
}��S©F���
}b��}:}�¢��������1�u Õ�>�\���¹�]�> I��}b�����	�
� C ���������n�>���Y�d����}b�1���������������
�����p´¶µ�Ê�·�©F�
}��F}b�
�
���
¥Y�> I�
��}��>�S�!�>���>�\}���}b�

r, r < r0,
�5�����

r0 > 0
���
� C ��}b�������]���H�>���Õ@

ÅI� C �k��}b�����	�
� C ���������n�>���\�d����}¡�����> Q�n�
}1 {����� y = y(x ± ct),
�5�����

y(x)
���F}b�����	�
� C ���������������

�> 4���
}¡}b���!���n�����Ë´¶µ�Ê�·�@
£��
}3�
���	�> 4�> 4£��
}b����}b�³?K���d���
}3���\�u}b�
���&��} C ���
��}b���
}b� C }V�> Â�>�
�
���	���
¥K���:���
}3}b���!�&�������~´¶µ�;�·

���
}¡��}b���
���5�\}b���������
}b�k�>�F�+��}3 {�����ö¸ á�º»@
¿5}b�\�>��«�@s¬��~���
}Y�
�!�>��}Y���!� C } (y, y′)

©Q���
}H��������} C ��������}b�K�> 5�F}b�������
� C ��������������������´¶µ�;�·V�>��}
���	�\�\}��n��� C �5�����Ë��}b���F} C �u���ª���
}Y������¥����S@É£��
}]��}��>�d�!�>���>�\}���}b� r C �>����}Y�n�>«>}b��}b���!�>�����ª���
}
�>�
� C �������u�> 4���
}¡������}b����} C �������#�> 4���
}3��������} C �������Y�5�����]���
} y

�¶��¢����b@
¬�� C ��� C ���
�
���
¥1���
���Â�!�>�F}b�b©���}5�
�>��� C }����
}� Õ� C �Æ���!�&�8�3�����\�
��}����	�F}b���F����� C ������� C ���
��}5�
}b� C �����F}b�

���É}b���!�&�������ï´¶µ�· C �>�¤¥�}b�
}b���&��}>©m�
�
�
}b�ª�>�
}b���!�&��}Ë�>�����
�\���������
�b©¯���&�>����}��¶�Ì�> ����������n�>���Û�d����}b�b©

µ�á>?



ø ëíç»ù¹æ+è�ù�úQû�æ�üAù�ý�ìnçÕþ¡ÿ
ì��në�û�ù êVæ�ê�ë��Ñè�ù �mëíê&ûÕù¹æ�ê>ìnü��bþ���ëíç	�+æ�ü ù 
mû�ý�ç�é+ú�ýÕé�ç¶ë�û
��� C ���
�
���
¥:���
}¡�F}b�������
� C ���
}b�b@

���! #"%$'&%(*)�+-,%)�(. #/�02143'5 6*7*598;:'3-<	=�14> > 5 ?�@BA�<	=C1ED25 ?F?�6�?�> 5 ?�1E<C3#7*5 G�H�DI5 6�?FJF6*7*14>9D;K�KMLN5 O�143I:-<�D2P!<%:'Q�14JR<%:'5984<��%SR�ET�T�U��SWVYX	X	X%�*SR02�Z�E[]\E^-�4T��C�_*�a`M+�bR"%c9d-d4+�)�+�e;fg/�hi<	=�1EDkjl<C>9> 1E7nm]6�> 5 :'6�?�D4�oj;6�?�8�14p*:-Dq<C?�7Yrts*p�143'5 JF14?�:-D4�*SWul143'> 5 ?Nv�m]p�3'5 ?�@�143Ewx�ET�T�y���SY_Cy�z{pN�U��i|�,E}�+�)�"�~x/9��r;7x� �F�M�]?�<CJF5984<C>�0#3'6�O�> 14JRDa5 ?�m]6�> 5 :'6�?�m]�*D�:'14JRDWK�K.0#3'6*8C�26C��\E:'Q�����6C:'6im]H�JFJF143F��?�D�:'5 :'H*:'1��tSul143'> 5 ?Nv�m]p�3'5 ?�@�143Ewx�ET�[��*��SY_C[��BpN�� �Rfg,t�)�"	d4,��2/�0
143'5 6�7*598�:'3-<	=C14> > 5 ?�@YAl<	=�1EDk5 ?g?�6�?�> 5 ?�1E<C3B3'1E<�8-:-5 6�?*^�7*5 G�H�DI5 6�?!1E��H�<%:'5 6�?�Dk=]59<WJ{H�> :'5 p�> 1F�k6�p*�;O�5 ��H�3I^84<%:'5 6�?N�]S�jl<%:-<C> H�?]��<�w�_Cz�z�_*��S!�20#3'14p�3'5 ?�:�K{�k?�5 =���0
6�> 5 :'1E8�?�5984<R7*1{jl<%:-<C> H�?]��<�����*�! #"E&�&%c�)]�Ce�"%)!�k/ �{/t,%)�&F�N+��Ec�)�d4"%).�{/*SW��Q�146�3'�W6C�;�M3-7*5 ?�<C3'�W�M5 G�143'14?�:-59<C>Nr;��H�<%:'5 6�?�D4�]SY k14A¢¡#6�3'£�v�P!8E¤B3-<EA�^�k5 > >¥wN�ET����*��S � _CT{pN�y��R~x,%)�d4"%)�+W¦k/ §M #"%)�e¥cZ`¨/� k6�?�> 5 ?�1E<C3q�M5 G�143'14?�:'59<C>Nr;��H�<%:'5 6�?�D4�]SW k14A¢¡#6�3'£�v*021�3'@�<CJF6�?�0#3'1ED'D4wx�ET�y � ��SY�CU�y{pN�\]�F©qc�$'}Eª�"I«¬¦k/ §B`M"%e�,­¦k/¥ #/q�M3-7*5 ?�<C3'�®�M5 G�143'14?�:'59<C>kr;��H�<%:'5 6�?�D4� ^�hi<C> :'Q�<CJn¯21�:-8C� v;ul>9<C59D'7*14> >�0#H�O�>¥��j;6�� wq�ET�y�T��
SU�y�yCpN�[��F©q$',%(�+�$B°l/ §
�{"Eª�+�±Z²*/ �¨/���Q�1{³MH�<C> 5 :-<%:'5 =C1���Q�146�3'�R6C�#�M3-7*5 ?�<C3'�R�M5 G�143'14?�:'59<C>xr;��H�<%:'5 6�?�D���´k?n��?�:-3'6*7*H�8�:'5 6�?o���]S k14A¢¡#6�3'£�v��M6	=�143q0#H�O�>¥� wZ�ET�[�T*�
µ ��ëY¶	ê�ù¥�nëíçíûÕù�ý þ¡æ	· µ ë'¸&ì�ûQì+ýt¹Qç»ü ù ê*º>ýÑæ�ê
»�¼�½*¾�¿�À�Á�Â�Ão»EÄ�Å%À*Æ*Â#Ç�¿]È�ÅtÇIÂ�¾�¿ É

1E8�145 =�1E7g�%\]� z�_*� z�U

µ�á>=


